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r = —7
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ghb60166 = FL E#=EREl



ghb60166 = FL E#=EREl



ghb60166 = FL E#=EREl



AX —x = Hx4
x = 20
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12 = 18

12 _ 18
12 12
s _ 3

2

ghb60166 = FL E#=EREl



3r—2 = 4
3r = 442
3r = 6
r = 2
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l—x = 22—1
—x—2x = —1—1
—3r = —2
—3r  —2
-3 -3
r = 2

3
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20 —7 = 3
2¢c = 347
2¢ = 10
r = 5
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—dx+5 =0
—dr = —9H
x =1
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3x+1 = 5
3r = 5—1
3 = 4
s 4

3
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3r—1 = 2
3r = 2+1
3r = 3
x =1
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3r—Tx = 8
—4xr = 8
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r—5 = 3x+1
r—3x = 145
—2x 6
r = —3
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2 =
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6x+7 = 4x—1
6xr—4xr = —1-—-7
2r = —8
r = —4
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9 —>H
9 —2x = 23+5
Tr = 28

2x+23
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6x+30 = 0
6x = —30
r = —>H
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—2xr—5 = 3x
—2xr—3x = 5
—5xr = 5

r = —1
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2c—3 = 5
2 = 543
2r = 8
xr = 4
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Or = 4—Tx
9+ Tx = 4
16x = 4
e 1
4
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4dxr+3
4xr —8x =
—4x

8r—10
—10—-3
—13
13
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Jr+2x =
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r—4 = bx—10

r—dxr = —10+4
—4xr = —060
L _ 3
2
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2c—1 = 5
2 = 5+1
2 = 6
r =3
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12x+1 = 8¢ —5
126—8x = —5—1
4dr = —06
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3r—2(x—1) = 8
3r—2x+2 = 8
r+2 = 8

€T 8—2
xr = 6
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4r+9 = 1
4 = 1—9
4o = —8
r — —2
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3r—2 = dbx+4
3r—5x = 4+2
—2xr = 6
r = —3
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Tx—(x—8)
Tr—x+8 =
6x+8 =
6x—2x =
4r =
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—12
—3
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4o —7 = 5
Ar = 547
4r = 12
r =3

ghb60166 = FL E#=EREl



Sr—Tx = —8
—2xr = —8
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S r—4 = —9x+ 38
Sr+9x = 38+4
1l4dx = 42
r = 3
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142 —15 = 9x+5
14x—9x = 5+15
b = 20
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2¢+6—5(x+2) = 5
2c4+6—5x—10 = 5

—3x—4 = 5
—3x = 5+4
—3x = 9

r = —3
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4xr—9
4dr—06x = 349
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6x+3

—2x
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3(x+2) =
3r+6 = x—2

3r—x = —2—6
2x = —8
r = —4
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r = 3
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4o —8 = Tx—14
Qr—Tx = —14+8
—3xr = —6
xr = 2
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3(x+2) =
3r+6 = x—4

3r—x = —4—6
20 = —10
r = —>H
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= (z—3)

1 _

r—3

r—oxr =

—dx

xr

3r—2

(3x—2)x2
6x—4
—4+43

—1
1

5}
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3r—1 = 4x+2
3r—4x = 2+1
—x 3
r = —3
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3—2x = Tx—6
—2xr—Tx = —6—3
—92 = —9
x = 1
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2x+5
2c—4x = 1—95
—2x = —14
r = 2
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8+3x = —4—=x

3r+ax = —4—8
4or = —12
r = —3
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4(3x+4)+1 = -7

12x+16+1 = —7

12¢x+17 = —7
120 = —7—17

126 = —24

r — —2
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3r+4

2(x—1)
2c0—2 = 3x+4
20 —3x = 4+2

r = —60
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—x—4x = 2—7
—9xr = —9
r =1

4a -+ 2
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9r+4 = Tx—06
9 —Tx = —6—4
2c = —10
r — —5
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5r—T7 = 3 (x+1)
Sr—7 = 3x+3
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r = 5
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—3x

104-5x

|
©

ghb60166 = FL E#=EREl



|
|
o

—x—2x
—3xr = —6
r = 2
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r 2x—1
3 3 1
r 2xr—1\
6><<3— ; ) — 1x6
2w—3(2w—1) = 6
2c—6x+3 = 6
—4xr = 6—3
—4xr = 3
. _ _3
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—3(2x—5)+Tx 5¢+5
—6x+15+7x = dbx+5
x+15 = dbx+5

r—oxr = 5—15
—4xr = —10
v 5
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—(x—1) = —2x+1
—x+1 = —2x+1
—xz+2x = 1—1
x =0
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6xr—4 = —x+3
6r+x = 3+4
Tt = 7
xr =1
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2
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10— = ©—8
—bSxr—x = —8—10
—6x = —18
r = 3

|
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5+2(3x—1) = —3+4x
54+6xr—2 = —3+4x
6r+3 = —3+4x
6r—4xr = —3—3
2 = —6
r = —3
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r = 3
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3(x+2) =
3r+6 = x—3

Jr—x = —3—6
20 = —9
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20+7 = 6x—8—5
2c+7 = 6x—13
20— 6x = —13—-7
—4x = —20
r = 5
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2(x—2) = —x+2
2c—4 = —x+2
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r = 2
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8r—4 = dSax+20
8r—dHxr = 20+4
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3x—(Tx—4) =
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—4xr = —4
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r = 3(2—x)+4
r = 6—3x+4

r+3x = 10
4r = 10
r= D
2
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4(2x—1) = 3(7+4x)—1
8r—4 = 21+12x—1
8r—4 = 20+12x
8r—12x = 2044
—4xr = 24
r = —06
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0.3 (z—1.5) = 0.2z-+1
0.32—0.45 = 0.2z+1
100%(0.32—0.45) = (0.2z+1)x100

30z —45 = 20z+100
30z —20z = 10045
10z = 145
2 (=14.5)
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0.3(x—1.5) =

100x0.3 (x—1.5) =
10x0.3 (10 (z—1.5))
3 (10z—15)

30z —45

30x —20x

10x

xr —=
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(0.2241) x 100
202 +100

202 +100

202 +100
100-+45
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Tx—2(3x—5) = 4x+3
Tc—6x+10 = 42+ 3
r+10 = 4x+3
r—4xr = 3—10
—3x —7
o= T
3
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3x+10

—2 (x+5)
—2x—10 = 32+10
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Sxt—60 = 3x

Sxr—3x 60
2x 60
x = 30
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4(x+1) =
4dor+4 = x—5

Adr—x = —5—4
3r = —9
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3:1:4—2 — 9,3
4><3‘734_2 = (2&¢—3) x4
3r—2 = 8x—12
3r—8xr = —12+2
—5x = —10
r = 2
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(76)
or —2 3r+41

3 2
5e—2 _ 3z+1
6x 2T = S5 r=x6
2 (5z—2) = 3(3z+1)

10x—4 = 92+3
10x—9x = 3+4
7

ghb60166 = FL E#=EREl

xIr



3] M
2 1

3Tty = T2
(3243 = (3a-2)o
4dr+3 = x—12
or—x = —12—3
3r = —15
r = —95
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—3(4—=x)
—124-3x = 4+ 5x
3r—5xr = 4+12
—2x = 16
r = —8
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3+2(2x—3) = 3x+4
3+4x—6 = 3x+4
4o —3 = 3x+4
4 —3x = 4+ 3
r =7
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St—15 = —
Sc+2x = 15
Tr = 15
L _ 15

7
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447 (2x+1) = 8x—7
44+-14x+7 = 8x—T7

14x+11 = 8x—7
l4dx—8x = —7—11
6 = —18
r = —3
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3(x—1) =«
3r—3 = x
3r—x = 3

20 = 3
—1
2
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3(x—1)
3r—3 = 2x+6
3r—2x = 6+3

2 (x+3)

ghb60166 = FL E#=EREl



20—8 = 3 (4—x)
20 —8 = 12—3«x
2c+3x = 1248
ox = 20
r = 4
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3r—5 = 4 (2x—5)
3r—5 = 8x—20
3r—8x = —20+5
—5x = —15
r =3
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2(7T—2x) = —7T(x—6)+2
14—4x = —Tx+42+2
14—4x = —Tx+44
—4r+Tx = 44—14
3z = 30
x = 10
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2c  6x+5 _ 5
3 4 6
2:1:_6w—|—5) _ 5
12><( r_OTEO) = D2
8z —3 (6z+5) = 10
8r—18xr—15 = 10
—10x = 10+15
—10x = 25
r — _9
o 2
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0.7r—1.3 = 0.4x+2
10x(0.7c—1.3) = (0.4x+2)x10
Tr—13 = 4x+20
Tr—4x = 20+13
3r = 33
11
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|
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—8xr = —8

x = 1
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0.3 (x+1) = —0.5z+1
10x0.3 (x+1) = (—0.5x+1)x 10
3(x+1) = —5x+10
3r+3 = —5x+10
3c+5r = 10—3
8r = 77

T=73
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8
|
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€XTr =
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3(x—4)
3r—12
—12—48
—60
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x+1 33—z 2(x—1)

2 5 3
30x($;1—33“3) — @x%
15 (z+1)—6 (3—x) = 20 (z—1)
152+15— 18462 = 20x—20
21z—3 = 20z—20
21z —20c = —20+3
r = —17
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0.3xr—1.3 = 1.4
10x(0.3x—1.3) = 1.4x10
3r—13 = 14
3r = 14413
3 = 27
xr =9
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—2x+3

6X—2:c—|—3

2 (—2x+43)
—4x+6
—4x+3x
—x

xr

3(b—x)
15—3x
15—6

9
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2c—5x = —6+30
—3x 24
r = —8
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=% = 0.3 (z—2)+4
10><7_T”” = (0.3 (x—2)+4)x10
2(7T—x) = 3(x—2)+40
14—2z = 3z—6440
14—2z = 3z434
—2x—3x = 34—14
—5x = 20 x=—4
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2 1 _ 3
3 2 4
2 1y _ 3
12X<§w—§> = Srx12
8r—6 = 9x
8 —9x = 6
—x = 0
r = —06
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4r+4 = 18—3x
4dr+3x = 18—4
Tt = 14
r = 2
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0.4x+1.5 0.7x+0.5
10%x(0.4x+1.5) = (0.7x+0.5)x 10
4x+15 = Tx+5
o —Tx = 5—15

—3x = —10
~_ 10
3
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6—(x—2) = 12—3w

6—x+2 = 12—3x

—x+8 = 12—3x

—x+3x = 12—8
2c = 4 xr=2
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